n* term of Linear Sequences

Lok é\REVISE THIS
1S T

1 The first four terms of an arithmetic sequence are

3 6 9 12

Write down an expression, in terms of n, for the nth term of the sequence.

n

(Total for Question 1 is 2 marks)

2 The first four terms of an arithmetic sequence are

+4 2 b 6 8
S 6 . 8 \_?10 \_?12
+2 +2 +2

Write down an expression, in terms of n, for the nth term of the sequence.

In+ &

(Total for Question 2 is 2 marks)

3 The first four terms of an arithmetic sequence are

6 q In

- 3

E 2 5 5 11
+3 +3 +7

Write down an expression, in terms of n, for the nth term of the sequence.

An — |

(Total for Question 3 is 2 marks)
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4 The first four terms of an arithmetic sequence are

4 g 1z 16
.|-
SE 9 5 B H17T 521
44 +4 +4
Write down an expression, in terms of n, for the nth term of the sequence.

bn + S

(Total for Question 4 is 2 marks)

5 The first four terms of an arithmetic sequence are

( 2 3 4
07 %5 .9 __10
-~ - -
+1 +1 +1
Write down an expression, in terms of n, for the nth term of the sequence.

n+ 6

(Total for Question 5 is 2 marks)

6 The first four terms of an arithmetic sequence are
S \S 10
-3
Cl 2 57 S22 G517
t§ +S S
Write down an expression, in terms of n, for the nth term of the sequence.

S5n-3

(Total for Question 6 is 2 marks)
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7 The first four terms of an arithmetic sequence are

6 12 8 2%
-|—ll-'+ E 50 5 56 562 68
+6 +6 16
Write down an expression, in terms of n, for the nth term of the sequence.

bn + 44

(Total for Question 7 is 2 marks)

8 The first four terms of an arithmetic sequence are
o 20 30 4o
=13 cp B 57 517 527
+10 410 +10
Write down an expression, in terms of n, for the nth term of the sequence.

|10n - 13

(Total for Question 8 is 2 marks)

9 The first four terms of an arithmetic sequence are
oS 1 IS A
43S
E 4 5 4555 555
+0-'5 40'S 40'S
Write down an expression, in terms of n, for the nth term of the sequence.

D-Sn + 35

(Total for Question 9 is 2 marks)
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10 The first four terms of an arithmetic sequence are
-1 -4 -6 -8
+11
E 9 - | 5 3
-1 -1 -1
Write down an expression, in terms of n, for the nth term of the sequence.

-2+ \\

(Total for Question 10 is 2 marks)

11 The first four terms of an arithmetic sequence are

-4 -3 -1n -lb
+Aa E 15 11 7 3
-¢ -4 -4
Write down an expression, in terms of n, for the nth term of the sequence.

-n + 19

(Total for Question 11 is 2 marks)

12 The first four terms of an arithmetic sequence are
¢G-S0 -15 -0
9 4 -1 —6
- -~ -~
- =S -5

Write down an expression, in terms of n, for the nth term of the sequence.

~Sn+ It

(Total for Question 12 is 2 marks)
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13 The first four terms of an arithmetic sequence are

- -23 -6
+lo C |sj177‘256

Write down an expressmn, in terms of n, for the nth term of the sequence.

-Qu + 10

(Total for Question 13 is 2 marks)

14 The first four terms of an arithmetic sequence are

-2 -313 -44
+ 11\
‘; 100589 578 567
-ll -1t -\
Write down an expression, in terms of n, for the nth term of the sequence.

= n.£ M)

(Total for Question 14 is 2 marks)

15 The first four terms of an arithmetic sequence are

-0-1 o% -06 -0-1
TS R 55654

Y 1 -o 01 -0L
Write down an expression, in terms of n, for the nth term of the sequence.

-0-ln + 6L

(Total for Question 15 is 2 marks)
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16 The first five terms of an arithmetic sequence are

+1 E S 10 S % 25
6 5 11516521 .26
+S +S 1§  +S

Work out the 20t term of the sequence.

Svn + |
5 x 20 +1

= 100 ¥
10\

(Total for Question 16 is 3 marks)
17 The first five terms of an arithmetic sequence are
e 12 & W %
SG T .7 13 _19 %
-~ -~ -—

+ < + +6
Work out the 50t terg of the6sequencg

on-5
x50 -5

= Y00-5
299

(Total for Question 17 is 3 marks)

18 The first five terms of an arithmetic sequence are
& 3 2 16 20
-1
E 2 - 6 ‘__"10‘__’14 _‘_’18
+4 4 +u Flp
Work out the 100t term of the sequence.

bn -2
%% 100 - 2L
= koo -1
398

(Total for Question 18 is 3 marks)
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19 The first five terms of an arithmetic sequence are

4 7 10 13 16

Is the number 91 in the sequence?
You must show how you get your answer.

Tn+ | = 91
In = 90
n= %o

\‘1e,s) k is twe 20™ ferm

(Total for Question 19 is 3 marks)
20 The first five terms of an arithmetic sequence are

3 7 11 15 19

Is the number 201 in the sequence?
You must show how you get your answer.

bn -1 = 20\
4w =202

n= 905
SO0'5 is not on wteger

1€ is not in the sequente

(Total for Question 20 is 3 marks)
7
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21 The first five terms of an arithmetic sequence are
7 13 19 25 31

Is the number 124 in the sequence?
You must show how you get your answer.

on +\| = |LY&
on = |23
n= 206

SO0'5 is not on keger
1€ is not in the sequente

(Total for Question 21 is 3 marks)

22 The first five terms of an arithmetic sequence are
50 47 44 41 38

Is the number —10 in the sequence?
You must show how you get your answer.

-An + O3 =-10
-in = -6}

n=9

Mes, b is the ™ Yerm

(Total for Question 22 is 3 marks)
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